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(4)
fallacy that each commits : 72
(i) AOOin first figure
(ii) OIOin first figure
(iii) AAO in Second figure
frefoiad srde <o et # Sefud ot
U4 ddast & A9 B Igd™ DITITT
(i) AOO W 3N H
(i) OIO Yoy i H
(iii) AAO feeira angfa &

Describe traditional square of opposition with

examples. 7

RERATT fRIg-a & FEERVT T HifoTe|

Unit-III / $oiR-111
Test the validity of the following syllogism by

the means of venn-diagram : 4+3%
(@) Some reformers are eccentrics.

All reformers are Idealists.

U Some Idealists are eccentrics

(b) EAE - IVt figure
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Note : Question No. 1 is compulsory. For the

rest attempt one question from each unit.
7o 9.1 3ifard &1 9 & foTe Tds s & v
Teq Hifore|
1. (a) Define the following with examples : 2x3
(i) Proposition and sentence
(i) Argument
(iii) Induction and deduction
(a) =1 & AereRor aRumr s
(i) wiasfa stk aa
(i) ghd

(iii) 3mme 3R e

P.T.O.
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(b) If A, Band C are true and x, y and z are
false, then which of the following expres-
sions are true? 2%x3
()

(i) [(AOB)O(xOy)]Oc
(i) [{((XOB)O~c}.(zO~y)]=2z

(b) T A, B3R CIT T 3IR x, y T z 377
g a = A ol 9 v g
(i) [~A={BV(y.~2)}]O~c
(i) [(AOB)O(xOy)]Oc
(i) {(XOB)O~cCc}.(zO~y)]=z

(c) If 'No Religious person are humanist' is
true, then what may be inferred about
the following propsitions? 2%x4
(i) All Religious person are humanist
(i) Some Religious person are humanist
(iii) Some Religious person are not hu-

manist

(iv) No Religious person are Atheist

3)
(c) aft " & afffe e axaaEe T8 &
e 2, ar for ufcftaat & fawar & Far sam
ST 37T e &2
() w9 onfie = AmgamEmRr £
(i) Po e @it AFgaERr &
(i) P& ofie =fRs AmgaER 78 &
(iv) @18 o enfife =afts arreaxard T2 &
Unit-I / 3o1%-1
2. Describe definition and process of Anumana

[~ A= {Bv(ya?:'c%]nmg Yo Nyaya. 72

=TT & AR A $I aRHT 3R fafér o saren
ifoe|
3. 'Savikalpak Pratyaksha is a Inference
(Anumana)' prove this statement. 72
Hiddedd Y&l 8 A &' 59 $oH Bl Ry ifare|
Unit-II / Shis-1II
4. Identify the rules that is broken by invalid syl-

logisms of the following forms, and name the

A-25 P.T.O.



®)
= =araaTad (GfRea) @ derdT & Sitd o & YTt
¥ BRE :
(®) S GIRS T &
T guRe sneefard 2|
0 3B 3neeidE 99! &
(@) EAE - Tgd 3maid Hl

7. Write a note on analogical inference. 7

AR R U6 femoh foRae|

Unit-1V / 3&R-IV
(pOa) %'r (a) Use truth tables to determine the valid-
ity/invalidity of the following argument

form: 4+4+3%2=72

rO(.q)/0@0g)O((P.aq)

f gfts w0 af deran/ardedT FeadT FROT gRT
T DIfSE

(pOq)Or

rO(®.q)/0@®0Oqg)0(.q)
A-25 P.T.O.
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(b)

(a)

(6)

Use truth tables to determine the follow-
ing statement form as tautology, con-
tradictory or Contingent :
[(p.q)Orl=[pO(q0r)]

Il AR GRT §a1sC fob i BU= B0 g=1=ieh
TET 37raT 31T & -

[(P.q)Or]=[pO(q0r)]

Use truth tables to determine the valid-
ity/invalidity of the following argument
form : 4+3%=7
pO(qOr)

(@.r)0~p/0~p

=1 gits ¥U o duar dud Faar TRl
ERI 31 DI

pO(qDr)

(q.r)0~p/0O~p

(7)

(b) Use truth tables to determine the follow-

A-25

ing statement form as tautology, con-
tradictory or Contingent :
pO[~pO(qO~q)]

FedT ARON GRT §T3e fob freidse 0 g=sfeh
YT 1Al 3T & -

pO[~pO(qO~q)]



